B.A/B |

FOURTH SEMESTER
Statistics (With Mathematics)
Paper V— APPLIED STATISTICS

_ (Regular)
Time : 3 Hours )

Max. Marks: 75
SECTION-A

| VES - D . / \Y/
Answer any FIVE of the following questions. ) \VJ//

_ Each question carries 5 marks.
808 TS DI 0 (SHEH BITFESIOD FPAHSd.
(O DEHD 5 Somty,e0. ' '

(Marks : 5 x 5 marks = 25 marks)

A Define Time series? Write its examples.
soFE3D DBD0B0d. T3 GETSesen [EcivBn.

~9.  Explain Mathematical model of Time series.
so@Eso K3Y ISorTed DSBosok.

_}./V\;ite moving average method.

5O JBrgRoTe f.’)dgé’_éﬁ) K58y DSBoSok.

4. What are seasonal variations.
SrerI0e PO 170, DS5BoBos.

5. Define Gompertz curve and mention two methods to fit the curve.
FPonB,, 31570y 00N Both HFEOR D&, B0, -

6. Explain the method of three selected points to fit modified exponential curve.
580D SUrErol JEBPH Jurrch HotHHo 3¢ ER0R°R DRy D5B8oS0&.

_-__7./ Define Drobish Bowley's, Marshall Edwartz Index Numbers.
EDQ TS, 5575 IESG 9D Sowge 18y DSBoSos.

ﬁ/ Fisher's Index Number is an Ideal Index Number.
55 Rrddoy)y BEY 27D Do)y e JETDoSod.
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Explain uses of vitg] statistics.
23ro0gys T B0Y, &S ey A2

10.  Explain measureg of Population growth,

BI DB e ‘565053 J38oS0a,

SECTION - B
VS - D

Answer any FIVE of the following questions,
Each questj

stion carries 10 marks. .
1508 o5t DD 0% DHOH B3reess0ens @ecfoso,
58 B0 10 et e,

4 (Marks : 5 « 10 marks = 50 marks) .
Explain Link Relative methog. o : ’

Do§ =y BB 580350, |
Fit straight line trend to the followin

Bo8 Seromea DB S0
Year: ,
(:)0;565‘365.1))

Sales: - 14 g4 o 26 928
(ea;iaé?en) ‘ .

\

12, g _data also find treng values,

&0 |H0f Denisen R 3k0.
012 2014 2016 2018 2020

}3/ What is cost of Living INDEX Nul_nber. Uses of cost of Living I'ndenf Number. | =
P53 [S50e R IS50955 D58oB0d BB &SmO BoSod, , : .

i
44, What are the problems involved in construction of Index numbers,
QD300 DBlo:50s® ens BODON AT TS0 D3BoSod r
15.  Explain any five assumptions of life table..
2D S8 By, DP D woSTremH Erafos.
6.

Explain in detail construction of a Jife table,

BDes ‘:)§§0 X)U"&es'“:)& D38oIod.

17. How to fit modified exponential curve using partial sums method.
288 3w’ 558095 Sremrox SEBY SoeoS GBI Bovod, | . :

ee selected points to fit logestic curve,

oXH)e 3% Jogrdoed I8 I5BoB0d.

i N

18.  Explain method of Thr
o238 35y sy D

P
A9, Explain varjous mortality rate. ‘ | ' "
A oBey Beaido K8y 25Bos0d.

yf Explain varioug Fertility rates, o
DA 2259 36&):)3 1803 580308,
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